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Q1: A squirrel ran up a tree with a nut./

S Ad:

Q2: A squirrel ran back down to the ground./

Sl Ad:

Q3: A tree was in the middle of her yard./

Sl Ad:

Q4: The cat started licking its paws./

S Ad:

Q5: The chair fell onto the floor next to the dog./
Sl Ad:

Q6: The dog stopped chewing the bone./

o] ESK

Q7: Jimmy wanted to cross the street./

Sl Ad:

Q8: Jimmy was on the south side of the street./
S Ad:

Q9: Jimmy wanted to get to the north side of the street./
Sl Ad:

Q10: His father always told him to cross at an intersection./
Sl Ad:

Q11: His father always said never cross in the middle of the block./
S Ad:

Q12: Jimmy waited for the red hand to change./

Sff Ad:

Q13: Lulu put her hand under her pillow./

Sl Ad:

Q14: Lulu felt something under her pillow./

Sl Ad:

Q15: Mom told them to stay out of the garden./

Sl A
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Q1: Billy picked up one sliced carrot with his fork./

S Ad:

Q2: Billy slowly put sliced carrot in his mouth./
Sff Ad:

Q3: Carrots help us to see well./

Sl Ad:

Q4: Her mom took her shopping./

Sif Ad:

Q5: We always buy everything on sale./

Sl Ad:

Q6: Mom took Carol to the stable./

o] ESK

Q7: Mom gave a carrot to Sugar./

Sl Ad:

Q8: Sugar ate the carrot fast./

S Ad:

Q9: Sugar eats carrots very fast./

Sl Ad:

Q10: We should give him a new name./

Sl Ad:

Q11: We should call him Carrot./

S Ad:

Q12: Mom took some sugar cubes out of her pocket./
Sl Ad:

Q13: Mom held sugar cubes in her hand./

Sl Ad:

Q14: Mama bear was looking for berries to eat./
Sl Ad:

Q15: Someday Baby bear would take a nap after a meal./

Sl A
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F7HZF0{): Dad ~SICHEAL): told
=T A? Adam
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'Be Polite.

= X|6: Ottit= OHEfOf| Al FAStat HIR L.

©JHFo0]): Dad ~SICHEA}): told
=0 A2 Adam

H{EH SIZ=Z? to be honest

Be HONEST! v 4

even if others are not
even if others will not
even if others cannot

‘he who walks honestly walks securely

= H|7: OfE2 ®=0f 7t7|?lol o 7kX| §f 3O }AH K.
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Q1: Charley turned the steering wheel left./

S Ad:

Q2: The map showed all the countries in the world./
Sl Ad:

Q3: The colors make the map pretty./

Sl Ad:

Q4: Adam stopped doing his homework./

Sif Ad:

Q5: Dad told Adam to be polite./

Sl Ad:

Q6: Dad told Adam to be honest./

o] ESK

Q7: Adam had to do one more thing to go to heaven./
Sl Ad:

Q8: The mailman put the mail in the mailbox./

Sif Ad:

Q9: Dad said hello to the mailman./

Sl Ad:

Q10: Susan liked to work in the garden./

Sl Ad:

Q11: Susan grew flowers and vegetables in the garden./
S Ad:

Q12: Susan invited Billy to a birthday party./

Sff Ad:

Q13: Susan invited Billy to a wedding./

Sl Ad:

Q14: Billy left a message for his sister./

Sl Ad:

QL15: Billy was eating the sliced carrots one by one./

Sl A
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QL: People throw food into a garbage can./

S Ad:

Q2: The crow flies down to the garbage can./

Sl Ad:

Q3: The crow walks around the edge of the can./

Sl Ad:

Q4: The crow doesn't like to share with others./

S Ad:

Q5: They leaned the air mattresses against the wall in the daytime./
Sl Ad:

Q6: They put the air mattresses on the floor in the nighttime./
o] ESK

Q7: They all liked to sleep on the air mattresses./

Sl Ad:

Q8: The girls didn't like to sleep next to the boys./
S Ad:

Q9: The rail kept the sleeper safe./

Sl Ad:

Q10: Mom took Billy to see the doctor./

Sl Ad:

Q11: Mom gave a little basket to Michelle./

S Ad:

Q12: Mom told Susan to look for Easter eggs./
Sl Ad:

Q13: Charley wanted to drive the car./

Sl Ad:

Q14: Charley followed his dad out to the car./
Sl Ad:

Q15: Charley put the key into the ignition./

S Ad:
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=X4 22 7|M7E Zot= ot ERdla.

SoHEO]):  We ~SICHEA): need
Mommy
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Q1: I'm going to take my dog to the vet./

S Ad:

Q2: Mom put my dog in the back seat./

Sl Ad:

Q3: We can get another dog for you if you want./
Sl Ad:

Q4: We need Mommy to change the diapers./
S Ad:

Q5: We need Daddy to pay the doctor./

Sl Ad:

Q6: The little girl wanted something to drink./

o] ESK

Q7: Her daddy drank beer every day./

Sl Ad:

Q8: Susan put the can back into the refrigerator./
S Ad:

QO: Susan poured some into a glass./

Sl Ad:

Q10: Susan added chocolate syrup to the milk./
Sl Ad:

Q11: Dady likes beer more than chocolate milk./
S Ad:

Q12: They especially liked Susan on Friday./

Sff Ad:

Q13: Susan brought cookies to class on Friday/
Sl Ad:

Q14: Susan gave cookies to all the students./

Sl Ad:

Q15: Susan will share her cookie at home with her sister./

Sl A
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F7HZF0f): Dad ~SICHSA}):  took
the pizza

to the living room
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=7HZ0): Billy and his dad ~SFCHS A}):  started
=7 to eat
the pizza

in the living room
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Q1: Sometimes Laura gets apples for lunch./
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Q2: We help each other with our homework./
Sff Ad:

Q3: Laura's parents invited me to their house./
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Q1: Marry will write about her day at school./
S Ad:
Q2: Marry wants a big brown horse for her birthday./
Sl Ad:
Q3: Marry will write a letter to her daddy about the horse./
Sl Ad:
Q4: Marry will tell grandma about the new brown horse./
S Ad:
Q5: My dad taught me to study hard./
Sl Ad:
Q6: My dad taught me to keep trying./
o] ESK
Q7: My dad married my mom when they were both 19./
Sl Ad:
Q8: My dad went to college while he was in the army./
S Ad:
Q9: My dad taught high school kids for 20 years./
Sl Ad:
Q10: My dad traveled around the world with my mom./
Sl Ad:
Q11: Laura and I walk to school together./
S Ad:
Q12: Laura and I eat lunch together at school./
Sff Ad:
Q13: Laura's mother gives Laura sandwiches for lunch./
Sl Ad:
Q14: My mother gives me sandwiches for lunch./
Sl Ad:
Q15: We share our sandwiches with each other./

Sl A
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Q1: They got into a fight with each other./

S Ad:

Q2: Mike saw Bobby fall to the ground./

Sff Ad:

Q3: Bobby punched Billy in the stomach./

Sl Ad:

Q4: They put their arms around each other./

S Ad:

Q5: Mom sent them to their rooms./

Sl Ad:

Q6: Girls want to marry a rich man./
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Q7: Someone will invent a nice machine someday./
Sl Ad:

Q8: The woodpecker makes holes in tree trunks./

S Ad:

Q9: The woodpecker hits the tree trunk with its sharp beak./

Sl Ad:
Q10: The woodpecker makes the hole bigger./

Sl Ad:

Q11: The woodpecker makes the hole big enough to sit in./

S Ad:

Q12: The woodpecker makes the hole big enough for two birds to sit in./

Sl Ad:

Q13: The mama woodpecker lays two eggs in the nest./

Sl Ad:

Q14: They make holes in other trees for new baby birds./

Sl Ad:
Q15: Marry will write a letter to her grandma./
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